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Mental Alility 1

Group Number : 1
Group Id : 998367630
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability 1
Section Id : 998367751
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 998367959
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 99836717901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following words cannot be made by using the letters from the given word?

ABORIGIMNAL
Options:

1. % ORGAN
2. ¥ ANGLE
2% ALIGN

4. * GRAIN

Question Number : 1 Question Id : 99836717901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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ABORIGIMNAL
Options:

1. ® ORGAN
= ¥ AMNGLE
3% ALIGIN
4. % GRAIN

Question Number : 2 Question Id : 99836717902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the term that will come next in the following series.

4E2H, 8G3E, Bl4n,
Options:

1. % 10]JEF

2. % 10KEFP

3. ¥ 10KEC

4 % 10]5C

Question Number : 2 Question Id : 99836717902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
STITAET SEAT H T 16t 0 FT =4 F)

4EZ2H, 6G3K, 814,
Options:



1. # 10]J5P
2. % 10KEP
3. ¥ 10KE0
4 % 1050

Question Number : 3 Question Id : 99836717903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing term in the following letter series.

QEEEOEE, OXEXEEOY, CEXXEEO, QOXXXEY, OOXXEEYE, Y

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. OXOHEHK

2 HOOHEHY

3. OXHOXKNH

4. OHEOEHE

Question Number : 3 Question Id : 99836717903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEAET alav 9@ | g U &1 9 @

OHEECEE, OXEEEOY, OXEXEED, QOXEEER, OOXEEEL, Y

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. OROHNEH

2 HOOHKY

3 OHHOHNHY

4. OHEOEXX

Question Number : 4 Question Id : 99836717904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are similar in a certain manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. ¥ Tw
2 % DF
3. % HJ
4 % PR

Question Number : 4 Question Id : 99836717904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.9 Tw



2. % DF
3. % HJ
4 % PR

Question Number : 5 Question Id : 99836717905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ot of the given options, three are similar in a certain manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. % Solder
2. % Erass
= % Steel

4 ¥ Silver

Question Number : 5 Question Id : 99836717905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Hiw=t
2 ® digd
3% gEa
4. ¥ =Trar

Question Number : 6 Question Id : 99836717906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In1 the given options 2 pair of words are similarly related and one pair is differently related. Find the pair
which is differently related.

Options:

1. % Hen : Chick
2. % (at: Kitten
3. % Cow : Bull

4. % Frog : Tadpole

Question Number : 6 Question Id : 99836717906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % il &ff o=

2 ® Tewdr fEwer
3 VT dd

4 & Ugw @ TEwdT

Question Number : 7 Question Id : 99836717907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first

teTIIL

EEV (ICT - ¥VHU : 7
Options:

1. % SER

2. % WY

2% W

4 ¥ TFS

Question Number : 7 Question Id : 99836717907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 Tefeped @1 e B ST 19 U I FR | Waled e WET d UgE uE, gt ug o Heltdd gl

EEY  ICT - WHU . 7
Options:

1. % SER

2. % WV

I% W

4. % TF3

Question Number : 8 Question Id : 99836717908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first

term.

Horme : Family - Office ;7
Options:

1. ¥ Office colleagues

2. % Friends

2. % Eoss

4. % work

Question Number : 8 Question Id : 99836717908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 oo @7 e B ST 6 UG IE FR | Haled e WE E UgET U gud U o Helldd gl

‘EIT:IZI'&HW::EEPT:IT:?
Options:

1. & wriea & |ganr
2 ®

3. % mriew

4. % FHH

Question Number : 9 Question Id : 99836717909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



From the given options find a pair of letters which is analogous to the given pair.

ZY¥F  YHE
Options:

1. % AWZ : BWY
2. ® IVY: EBDC
3. % DIC: AXE

4. % CYE: BHA

Question Number : 9 Question Id : 99836717909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty Ty et & & arat o U ST Y A e, S AT Y S & Sew 8

ZYF YVHE
Options:

1. % AWZ  BWY
=z % IVY: EBDC
3. % DIC: AYE
4. ¥ CYE : BHA

Question Number : 10 Question Id : 99836717910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If FORMULAE is coded as DMPEWINCG, then GUIDAMNCE will be coded as

Options:
1. ® ESGEYLAC

2. ¥ ESGBCPEG
3. #® [WKFCFEG
4. % ESGBDOFH

Question Number : 10 Question Id : 99836717910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
I FORMULAE T DMPEWNCG & ¥ H Hidiid @ [0dT AT 5, 91 GUIDANCE @7

Options:

1. % ESGEYLAC
= % ESGEBCPEG
3. % [WKFCPEG

4. % ESGEDOFH

Question Number : 11 Question Id : 99836717911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, §95 means 'lemon is sour', §13 means 'sugar is sweet' and 937 means 'sour and
sweet'. Find the code for ‘and'.

Options:
1.% 9
= 7



3. %3
4 ® 5

Question Number : 11 Question Id : 99836717911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T FiE AT A, 695 @7 a0 § lemon is sour', 613 @7 el § 'sugar is sweet' 3T 937 @7 anf § 'sour and swest',
Tt 'and' & o7 @iz =

Options:
1. %9
2.7
3% 3
4 % g

Question Number : 12 Question Id : 99836717912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Here are some words from an artificial larnguage.

'sipwvot' means 'softball’,
'marvot' means 'tallroom' and
'marjeb’ means Toorrrate!

Wwhich word would rmean 'material'?
Options:

1. #* votsud

2. % gismar

2 % sipdup

4. ¥ nopjeb

Question Number : 12 Question Id : 99836717912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AR U FOH W S e AT T 3

'sipwot' @ et & 'softball,
'marvot’ T e § ballroom’ 3T
'marjety’ @ &t § roommate’
ToreT ateg T =1 ‘material' 7
Options:

1. #* votsud

2. % gismar

2 % sipdup

4. ¥ nopjeb

Question Number : 13 Question Id : 99836717913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Arrange the following words as per order in the English dictionary and choose the second last word.

1. EMISSION
2. EMIGEATE
. EMIEATES
4. EMISSARY
&, EMIMNENCE

Options:

1. % EMISSION
2. ¥ EMISSARY
2. % EMIMNEMNCE
4 % EMIGRATE

Question Number : 13 Question Id : 99836717913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT Teat BT ST Meamier o FH o SIgHI S ierd B 37T ST & e deg @1 gl

1. EMISSION
2. EMIGEATE
. EMIEATES
4. EMISSARY
&, EMIMNENCE

Options:

1. * EMISSION
= ¥ EMISSARY
2. % EMIMNEMNCE
4 % EMIGRATE

Question Number : 14 Question Id : 99836717914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the 17th of a month falls on a Sunday, 28th of that month will fall on which day of the week?

Options:

1. % Thursday
2. # Monday

2 % Wednesday

4. % Tuesday

Question Number : 14 Question Id : 99836717914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e AE - T 17 a1 T Tear 8, 91 39 7 14 @ 28 °7 fod #g & e g g
Options:

1. ¢ TEaw

o ¥ gimaw

3. ® Ew

4 % gEan

Question Number : 15 Question Id : 99836717915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Showing a photograph to F, Mr D said that the gentleman in the photograph was his spouse's father. F said
that, that gentleman was his wife's mother's father. If the gentleman in the photograph has only cne daughter,
then how is F related to 07

Options:

1. % Son

2. % Grandson

= % EBrother-in-law

4. % Son-in-law

Question Number : 15 Question Id : 99836717915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gar

o % O FETEr
Z % gEAr

4 ¥ TS

Question Number : 16 Question Id : 99836717916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If theletters H, B, F, ©, 5 and I are numbered 1, 2, 3, 4, 5 and & respectively. Select that cornbination of
nurnbers so that letters arranged accordingly, form a meaningful word.

Options:

1. % 265143
2. % 314256
2% 126534

4. ® £41532

Question Number : 16 Question Id : 99836717916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

qf &g H, B, P, O, § A1 0 1, 2, 3, 4, 5 3 6 FHIFT 5 Gea1ell & I8 G P a9 3, AT AGRT & SRR caa e
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Options:
1. % Z2E5143

2. % 314256
2% 126524
4 % 541532

Question Number : 17 Question Id : 99836717917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

G, H, 1, ], Kand L are sitting in a circle facing away from the centre. H is facing opposite to K. I and J are not
rneighbours. Jis to the left of G and I is to the right of K. Who i5 to the right of L?

Options:

1. ¥ H



2. %1
3G
4 ® K

Question Number : 17 Question Id : 99836717917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

GHILLERLIgH e e me tmaaR fas 8 H K Famd dartl [ ey J s 9ef 81 | G S e 2 o] K

Options:
1.¥vH
2. %1
=G
4 % K

Question Number : 18 Question Id : 99836717918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The staternents below are followed by two conclusions labelled [ and I . Assuming that the information in the
staternents is true, even if it appears to be at variance with generally established facts, decide which conclusion
i) logically and definitely follow(s) frorm the information given in the staterments.

Staterments:
I. Sorme cuphoards are desks.
II. All desks are chairs.

COnclusions:
[. Some cupboards are chairs.
I[I. Some chiairs are deslks,

Options:

1. # Only conclusion I follows

2. % Only conclusion I follows

2. % Both conclusion [ and 11 follows

4. % MNeither conclusion I nor 11 follows

Question Number : 18 Question Id : 99836717918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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II. gﬁgﬁmgﬁm%

Options:

1. % ot Tmepy I SIeo #3aT &

2. % e Teeand 11 SIe aT g

3 ¢ g ey 1 e I argaeoT o &



4 % T e [ T T80 1] aRfeRoT a8

Question Number : 19 Question Id : 99836717919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully and decide which of the conclusions logically followi(s)
from the statement.

Staternent: In urban areas the number of men who wear mostly western outfits (shirt and trousers) is more
than the number of wornen who wear western outfits.

Conclusion I Indian wormen are less fashion conscious as [ndian men.
Conclusion [T : A5 more men are emploved in urban India cormpared to wormen they have to wear formal
western outfits when they go to work.

Options:

1. # Only conclusion I follows

= % Cnly conclusion 1T follows

2. % EBoth conclusion I and I follows

4. % MNeither conclusion I nor 11 follows

Question Number : 19 Question Id : 99836717919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ot Tmepy I SIeo #3aT &

2. e Teea 11 SIe #aT g

3 % gt ey 1 o I argaeoT avd &

4 % qatferd [ ofw T 5011 arfaeo aedT ¢

Question Number : 20 Question Id : 99836717920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which two signs should be interchanged to make the below equation mathematically correct?

7 -15 %2428 +7 =20
Options:

1. + %

oW o+

3%+ -

4 % - +

Question Number : 20 Question Id : 99836717920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et TarT T S T i € & Gy e & T T o e o ey S T AT e

3r-15 2+ 28 +7 =30



Options:

1.¥ +, %
LR L
W 4 =
4 % - +

Mental Ability 2

Group Number : 2
Group Id: 998367631
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Abilitye
Section Id : 998367752
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 998367960
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 99836717921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which two numbers should be interchanged to make the below equation mathematically correct?

SE-Z2dx4d4+ 72 +6 =15
Options:
1. % 4 24

2. ¥ g 24
2% 24 36
4 ® 36,72



Question Number : 21 Question Id : 99836717921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Tary T e T I | Gy A o T T S et o T S i T AT 2 R

ZE-2dx4+72 -6 =15
Options:

1. % 4 24

2 ¥ B 24

2% 24 36

4 % 326,72

Question Number : 22 Question Id : 99836717922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

14980187
Options:

1. % 130

2 ¥ 162

2% 90

4 % 184

Question Number : 22 Question Id : 99836717922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 e T e e ST A T UG I W | Tl g e WET | UgE U g U o HeltHd gl

14:98::158:7
Options:

1. % 130

= ¥ 162
2% 90

4 % 184

Question Number : 23 Question Id : 99836717923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A narnber series s given below in which one nurmber is incorrect. Find the INCORRECT nurniber in the series,

&, 10, 14, 20, 20, 28, 50.
Options:
1. % 14
2 ¥ 30
2. % 38
4 % 50

Question Number : 23 Question Id : 99836717923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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3, 10,14, 20, 20, 28, 50
Options:
1. % 14
2. % 320
3. % 38
4 % 50

Question Number : 24 Question Id : 99836717924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ot of the given options, three are similar in a certain manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:
1.% 71
2. % g1
2. ¥ Gl
4 % 41

Question Number : 24 Question Id : 99836717924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qn%ﬁaﬁ—nﬁﬁﬁ 1 Ter TS Fir & TR 2 §TAT, U [ded ST o 4 o aXg Agl 51 39 e 7 = & AT aTeel &
STETT

Options:
1. %71
2. % g1
2. ¥ Gl
4 % 4]

Question Number : 25 Question Id : 99836717925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first
term.

142857 ;999993 ;0 285714 . ¢
Options:

1. % 1999938

2. % 199998

3% 198989

4 % 189998

Question Number : 25 Question Id : 99836717925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=9 Terpe T e B ST e UG I FR | Haled e WET | UgET ug gl ug | Helldd gl

142857 . 999999 . 285714 . 7
Options:



1. ¥ 1999998
2. % 199993
3. % 193989
4. % 139993

Question Number : 26 Question Id : 99836717926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cornplete the following nurmber series.

2,9 28, 65, 126,
Options:
1.9 217

2 % 215
3. % 213
4. % 211

Question Number : 26 Question Id : 99836717926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2,9, 26, 65, 126,
Options:

1.9 217

2. % 215
3. % 213
4. % 211

Question Number : 27 Question Id : 99836717927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 4#2 = 20, 9#6 = 20, 11#1=100 then find the value of 7#2 =7

Options:
1. % 21
2 ¥ 40
3. % 20
4 % 42

Question Number : 27 Question Id : 99836717927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ao d#2 =20 9#6 =230, 11#1 =100T7#3 = T AN T FHT7

Options:
1. % 21

2. ¥ 40
2. % 20
4. % 42



Question Number : 28 Question Id : 99836717928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given nurmber pairs, three are similar in a certain manner. However, one pair is NOT like the other
three. Select the pair which is different from the rest.

Options:

1. % 4, 15
2. % 5 24
3. % 38
4 ¥ g, 37

Question Number : 28 Question Id : 99836717928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 4 15
2. % L5 24
2% 3,8
4 ¥ g 37

Question Number : 29 Question Id : 99836717929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the rmissing riumber in the givern nuimber series.

-3, -4, -7, -11, -15, 7, -47
Options:

1. % -25

2 ¥ -29

3w 27

4 % -31

Question Number : 29 Question Id : 99836717929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST TS T ST o o0 HEdT 1T B
-3, -4, -7, -11, =18, 7, -47
Options:

1. % 25

2 ¥ -29

3% 27

4 % -31

Question Number : 30 Question Id : 99836717930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following figure, circle represents Asians, triangle represents astronomers, square represents farmers
and rectangle represents womern. Which set of letters represents Asians who are NOT farmers?

Options:
1. % HF
2 ®IG
3. ¥ CEE
4, % ED

Question Number : 30 Question Id : 99836717930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRTerrET el |, oo uldRmeat w1 quiar 8, i @iie-anat w1 gaiar 8, o et @ guiar g o e aigrat @
TAAT 81 2T5RT T W1 A7 AT UTSMEAl @ gaiaT & AT S gl e

Options:
1. ® HF
=z ®IG
3. ¥ CEE
4. % ED

Question Number : 31 Question Id : 99836717931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following Venn diagrams best represents the relationship between sparrows, plants and insects?

Options:



Question Number : 31 Question Id : 99836717931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T H & @ AT o AT T, UYe, FiTl & S o Gad @ Hae g gaidT 57

Options:

=i 4

Question Number : 32 Question Id : 99836717932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Two planes E and F start from the same airport. Plane E flies 100 miles west, then turns left, flies 100 miles
and lands. In the meanwhile plane F flies 75 miles South, then flies 125 miles east, then turns to its right, flies
25 miles and lands. Where is plane E with respect to plane F?

Options:
1. # 2E miles East



2. % 25 miles West
3. % 225 miles BEast
4 % 225 rmiles West

Question Number : 32 Question Id : 99836717932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks 0.25

E?FE'H‘I’:?GEHESJQITFQEFEQT arE IS W g 5o A5 E 100 Hie TR 1 S I2d7 &, e a0 g2 100 Al 32
¥ FTE AR O FI4GT 8 59 S@WF?S IS T AR F2dT &, T 125 Hi Juf &1 o) 32 9ear 2, e g8 &
EdT 8, 25 Hid 32 R THH I 9T 51 B A5 F @I deief § a2 A5 E F5l 87

Options:

1. % 25 A
2. ® 25 Him aEm
3 % cocdHE
4. ¥ 225 diF ukEm

Question Number : 33 Question Id : 99836717933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two artists & and E are working on a sculpture. 4 is facing south. He turns 180 degrees, then he turns 45
degrees clockwise and then he turns 90 degrees to his left. If now B is standing opposite & facing him, then in
which direction is E facing?

Options:

1. % South-East
2. % DMorth-west
3. % South

4. % MNorth

Question Number : 33 Question Id : 99836717933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

BT FATEN & R B UF Uidal I 10 34 12 21 A 1 o140 &1 oK 81 9F 180 20t W g2a1 8, U ag 45 T2t gigmad
%’Wgo%ﬂﬂaﬁmaﬁwwﬁﬁﬁmAﬁ?ﬂmﬁwgﬁEﬁmﬁmﬁ?

Options:

1. glgm-ge
o ® o7 ukEm
= ® gigm

4 ® FOT

Question Number : 34 Question Id : 99836717934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four options three are similar in a certain way and one is different. Find the option which is
different.

Options:

n - P
Z X <

O 2 T

1. ¥



X QY
Z S H
N O |
o %
X | &
N Q S
H Y O
3 %
O S X
Y Q N
| H Z
4 %

Question Number : 34 Question Id : 99836717934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
= et # & o= ua ST 90 § 90 8 o U AT 81 39 W & AT w2 21

Options:
HQY
N I X
O SN
1. ¢
X LY
Z S H
N O |
o W
X | £
N QS
H Y O
3"
O S X
Y QN
| H Z
4. =

Question Number : 35 Question Id : 99836717935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four pairs of figures are given. Three pairs are similar in a certain way and one is different. Find the pair of
figure which is different.



Options:

*x | # *
3 #
$ | @ @
1. %
$ | * $
% *
% # #
o
@ | & #
* X @
# | * &
T W
# | @ #
$ @
| $ I
4

Question Number : 35 Question Id : 99836717935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W T o A2 ol T8 gl 317 Ale U =g it o G & T UF Tl 51 39 A= & A1 B A7 AT 5

Options:

* | # *
$ #

% *
% # #




@ | & #
* @
# | * &
3 ®
# | @ #
$ @
| $ !
4

Question Number : 36 Question Id : 99836717936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& figure series of & parts is given. Out of these, 4 parts are labelled &4,E, C and D. Out of these 4 parts one part
15 incorrect. Find the INCORREECT part.

— || —r |
e | ——
1| A Wl
]

I
a b C d

—

—

o |l

=% o
o ]

Options:
1% 4
2 ¥E
3 % C
4 % D

Question Number : 36 Question Id : 99836717936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& T T U AT AEAT o] T8 21 S H T =X AT FT A, B, C & D wad o7 51 59 = AT # & UF AT 21
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1 A

]

] I
a b C d

—

—
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- |

Options:
1% 4
o ¥ E
3 % C
4 %D

Question Number : 37 Question Id : 99836717937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If a cube is painted yellow on all sides and if it is cut into 27 smaller cubes then how rmany such cubes will
hawe less than two sides painted yellomw’?

Options:
1.¥7
Z % B
3. %3
4 % g

Question Number : 37 Question Id : 99836717937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
aﬁwaﬁmﬁmﬁﬁﬁﬁﬁww%aﬂ?aﬁsﬁz? T T H W7 A1aT 5, 7 U TR 5 i e e i g e e
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Options:
1.9 7
2 %5
3. % B
4 % g

Question Number : 38 Question Id : 99836717938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given answer figures, select the one in which the question figure is hiddern fembedded.

Options:

KK

\
\
/\

/




Question Number : 38 Question Id : 99836717938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1T T gt # ¥, 39 O o e e e ma anghd TfE 8

Options:

KK

\
\
/\

/

= o

Question Number : 39 Question Id : 99836717939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If a rmmirror is placed on the line MM, then which of the answer figures will be the right mirror image of the

given figure?

M

A

y

D~
LA
S|

4 P

e
A

.« I D

Question Number : 39 Question Id : 99836717939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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A
b %4
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Question Number : 40 Question Id : 99836717940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the minirmum number of straight lines required to draw the given figure?

,\//,

Options:
1.¥ 13
2 %10
3 0% 11
4 % 12

Question Number : 40 Question Id : 99836717940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.¥ 13

Z %10

3% 11

4. ® 12

Zeneral Avwarenessl

Group Number : 3

Group Id: 998367632

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awarenessl

Section Id : 998367753
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 998367961
Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 99836717941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ghurmnra is a famous dance formof _____________.
Options:

1. % Gujarat

2. ¥ Odisha

3. % Madhva Fradesh

4. # Chhattisgarh

Question Number : 41 Question Id : 99836717941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AL T U Withg 9o & 51
Options:

1. % T

2.V aiffEam

2 % geyud

4, % giETE

Question Number : 42 Question Id : 99836717942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following folk musics does NOT belong to Rajasthan?

Options:

1. % Maand

2. # Pabuji ki Panch
3. % Panihari

4. % Baryi

Question Number : 42 Question Id : 99836717942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT T & AT dAld Qg T &1 A1 57

Options:

1. % miz

o % st & g
3. % giagn

4 ¥ e

Question Number : 43 Question Id : 99836717943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
________ festival of Eihar is celebrated by mothers for their son on the 8th day of Krishna Faksha of Ashwirn.

Options:

1. % Tegj

2. ¥ Jeutia

3. % Das-Lakshan

4 % Ramnavamri



Question Number : 43 Question Id : 99836717943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TRER®E ________ TR, TP o T 0y o 8 o o ATaTat grT e & OF TR0 AT e A
Options:

1. % d=

2 o Ffea
3. % TgaNT
4 ® gt

Question Number : 44 Question Id : 99836717944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Taj Mahal 15 located on the right bank ofthe _________ Eiver,
Options:

1. % Godawvari

2. ¥ Yarmuna

3. % Mahanadi

4 % Krishna

Question Number : 44 Question Id : 99836717944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TEA _________ CRK Al CRC T LA T
Options:

1. % TigrEr

2. ¥ T

3. % wgrer

4, % u

Question Number : 45 Question Id : 99836717945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The headguarters of State Bank of India is situated in
Options:

1. % Mumbai

2. % Bangalore
3. ¥ Kolkata
4. # MNew Delhi

Question Number : 45 Question Id : 99836717945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WRH 1T €T of 1 =T

Options:

1. v gag

o ® FAR
3. ® FowET



4, % F fawe

Question Number : 46 Question Id : 99836717946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Gross MNational Product at Market Price = Gross MNational Product at factor cost +
Options:

1. ¥ net indirect taxes

2. % depreciation
2. % net income from abroad

4. # subsidies

Question Number : 46 Question Id : 99836717946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=TT Je UE T Tlﬁﬁdculq = TR AT U el U@?Td-:ulq +

Options:

1. ¥ Fae ey w7
2. % qrhgEe

3 % T o e s

4. % yEEEEAT

Question Number : 47 Question Id : 99836717947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

As anrounced in the Budget 2019, the Aspiraticnal Districts Programme 15 providing targeted deseloprent to
most backward districts of the country.

Options:
1. % 112

2. ¥ 115
2% 118
4 % 120

Question Number : 47 Question Id : 99836717947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e 2019 H T % AR, Tentaee e Wy g

Options:

1. % 112
z ¥ 115
2% 118
4. % 120

aad fiwe Foet 1 wfaT e mee T T B

Question Number : 48 Question Id : 99836717948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
___________ states that temperature remaining constant, volume ofa ZivEDl 11855 ofa gas varies inversely with
the pressure of the gas.

Options:



1. ¥ EBovles's law
2. % Hooke's law
3. % Pascal's law

4. % Charles's law

Question Number : 48 Question Id : 99836717948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

_______ TgdT § o qT0AT T TgaT |, T 3 Ta T e T s T @ g o @ SR I | 5 raT )
Options:

1. & =7 & T
2. % T o TEm

3. ¥ g @ HaA
4. % e o7 e

Question Number : 49 Question Id : 99836717949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following ga5es 15 used as an anaesthetic in dental surgery™?

Options:

1. ® Sulphur Dioxide
= ¥ Nitrous Cxide

2. #* Mitrogen Dioxide

4. #* Carbon Monoxide

Question Number : 49 Question Id : 99836717949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ea-TeridreaT § Hecae o w0 | Feieiee et # 9 Trmer Fuai G T 27

Options:

1. * Ormt EEATFAES
2. ¥ Tiggd ATFEES

3. ® AEge SRS
4. % FET AATHTTAES

Question Number : 50 Question Id : 99836717950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Swoon belongs to the

Options:
1. ¥ porifera

= # cnidaria
2. * platyhelminthes

4. % ctenophora

Question Number : 50 Question Id : 99836717950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WERH __________ o AT AT 8



Options:
1. & gromT
2. % TEThear

3. ¥ g
4. ® TR

Question Number : 51 Question Id : 99836717951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Fusion between one large, non-rmotile (static) fermale gamete and a smaller, motile male gamete in algaes is
termed as

Options:

1. ¥ gogarmous

2. # anisogarmous
2. ® isogarmous

4. % zoospores

Question Number : 51 Question Id : 99836717951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e ® U 92, are (R wreT i o U gte, niddie 9% g & s deae w1
Options:

1. ¢ g

2 ® aEtETmHe

3. % smEnHE

4 % FEOr

Question Number : 52 Question Id : 99836717952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sariska Wildlife Sanctuary is situated in
Options:

1. ¥ Rajasthan

2. ® Gujarat
= % Karnataka

4 * Kerala

Question Number : 52 Question Id : 99836717952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HIERT Ir ot 1 SR " e

Options:

1. ¥ TR
2. ® T

3. ® Flcw
4. ® A

Question Number : 53 Question Id : 99836717953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
MODWS stands for

Options:
1. % Ministry of Drinking Water and Sanitation

2. % Ministry of District Water and Sandfill
% % Ministry of District Waterways and Sanitation
4. % Ministry of Drinking Water and Sandfill

Question Number : 53 Question Id : 99836717953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
MODWS T Egetwr ___ 7l
Options:

1. Tafesr i T8 amew Uz afea

o % Tl sifr feftie ey Uz e

3. % e T B ieeee amedd gs aFeaq
4 % TR sifw FER o i Asfhe

Question Number : 54 Question Id : 99836717954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Mational Acaderries of Sciences, Engineering and Medicine determined that an adequate daily fluid intake
for men is

Options:

1. % 2.7 litres
2. % 5 Clitres
3. % 5.8 litres

4 % 92 litres

Question Number : 54 Question Id : 99836717954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ 37 ex

2 ® 5 EdReT

3 % g8

4 ® 97w

Question Number : 55 Question Id : 99836717955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the normal body termperatura?

Options:

1. ¢ 37°%
2 % 350
3 % 325
4 % 25°%



Question Number : 55 Question Id : 99836717955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST T AT TITAT F247 57
Options:

1. ¢ 37"C

2 ¥ 3502

3 ¥ 320

4 % 23°%

Question Number : 56 Question Id : 99836717956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Seonath is a tributary of the __________
Options:

1. % Mahanadi

2 #® Ravi

3. # Charmbal

4. % Indus

Question Number : 56 Question Id : 99836717956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AR ___ BRI TIRE e C
Options:

1. ¥ mgmer

2 % O

3 # oo

4 % Ty

Question Number : 57 Question Id : 99836717957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The _________ is actually the youngest of the major oceans.
Options:

1. % Pacific Ocean

= % Atlantic Ocean

2. % Indian Ocean

4. % Arctic Ocean

Question Number : 57 Question Id : 99836717957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

_____________ AEdd H HE AETEIRT § He gieT 3l
Options:

1. % [ang AETETT

2. ® EAlE U



3. ¢ g T
4 % FAEE UEETT

Question Number : 58 Question Id : 99836717958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____________ is known for highest rainfall.
Options:

1. ®¥ Himalavan Range

2. ® Karakoram Range

2. ¥ Purvanchal Range

4. % vindhya Range

Question Number : 58 Question Id : 99836717958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
____________ BT FTH q9T P T ST AT 8l

Options:

1. % pomeed &
o ® FHEHEE
3. ¢ yEher
4 ® Tdeame

Question Number : 59 Question Id : 99836717959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following is NOT true for Alluwvial Soil?

Options:

1. ¥ It is highly fertile.

2. % [tis rich in potash.

% % Humus, lime and organic matters are present.

4. Old alluvium is termed as Khadar.

Question Number : 59 Question Id : 99836717959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt & & @19 a1 gegiaes ger & oy wer g 7
Options:

1. % g A IS 8l

2. ® T OeTd H 90E )

2. ® T, AT S W v Tare Hg 8

4 & W ARG P GG Tl AT 1

Question Number : 60 Question Id : 99836717960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The cormrmercial capital of Sri Lanka is

Options:
1. ® Male



2. ¥ Colombo
3. % Javewardenepura Kotte

4. # MNaypyidaw

Question Number : 60 Question Id : 99836717960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e ORI G ) o 2l
Options:
1. % o
o & Piwal
3. % ST W
4. ¥ quudtsT
Gerneral Avwarenesss
Group Number : 4
Group Id : 998367633
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Gerneral Awarenesss
Section Id : 998367754
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Section type: Online
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Number of Questions: 20
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Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 998367962
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 99836717961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The rabi seasor begins in

Options:



1. ¥ winter
2. % guturmn
3. % sSurmmer

4. % spring

Question Number : 61 Question Id : 99836717961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TelT T HIEaH o & ST 8]

Options:
1. v 7af
2. % uqge
3 % it
4 % FET

Question Number : 62 Question Id : 99836717962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did the Akali Movermnent start?

Options:

1. % 1918
= ¥ 13920
3. % 1925
4 % 1915

Question Number : 62 Question Id : 99836717962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST T ATEIEH el & FalT?

Options:

1. % 1918

2 ¥ 1920

3. % 1925

4. % 1915

Question Number : 63 Question Id : 99836717963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the Morley-Minto Reform Act introduced?

Options:

1. % 1912
= ¥ 1303
3. % 1915
4. % 1305

Question Number : 63 Question Id : 99836717963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hiei- T e STer==r @ tar T 1 ar?



Options:

1. % 1912
=z ¥ 1903
3. % 1915
4, % 1905

Question Number : 64 Question Id : 99836717964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat was the real name of Jahangir?

Options:

1. ¥ Nooruddin Salim

2. % Jalaluddin Moharmmed
3. # MNaseeruddin Moharmmed
4. % Muhiuddin Moharmmed

Question Number : 64 Question Id : 99836717964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FAENII T ATed [les AT 4T 717

Options:

1. ¥ e A

2. % SETE I HIgHE
3. ¥ TefteR I Aigrg
4. ¥ ghaeH mgme

Question Number : 65 Question Id : 99836717965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Lothal city of the Indus YValley Civilisation 1s situated on the banl of the river

Options:
1. % Luni

2. % Ghaggar
3. * Indus
4. % Bhogava

Question Number : 65 Question Id : 99836717965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Toe] TITCT AT W A AMEC

Options:

1. % goit
2 ® g
3. % Ty
4. ¥ aqimar

Question Number : 66 Question Id : 99836717966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



_________ wrote Tuzulk-1-Babri in Turkish.
Options:

1. # Jahangir

= % Alkbar

2. % Hurmayun

4. % Babur

Question Number : 66 Question Id : 99836717966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

_________ o T H - U=y e
Options:

1. % gt

2. % e

5. % gard
4 ¥ gEw

Question Number : 67 Question Id : 99836717967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Abdul Hassan, Ustad Mansur and Bishandas were the farmous painters of _________
Options:

1. ®¥ Babur's

Z ¥ Jahangir's

3. # Akbar's

4. % aurangzeb's

Question Number : 67 Question Id : 99836717967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Heg RO, TS HET ST feemam _________ P ST o Wity e 4
Options:

1. % =&

2. ¥ SEmiT

3. ® el

4. ¥ A

Question Number : 68 Question Id : 99836717968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Undisputed Truth" My Autobiography' is the autobiography of
Options:

1. ¥ Rafael Nadal

= % Michael Holding

3. ¥ Mike Tyson

4. % sain Bolt

Question Number : 68 Question Id : 99836717968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
SIEETCE 0 A SATEtaraimhy _____ T STTCHEIT B

Options:

1. % YHIH ASTe

2. % [TE@d giieeT
3. ¥ AE® TTEa

4. ® FE dlew

Question Number : 69 Question Id : 99836717969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following books is MOT written by Jhurmpa Lahiri?

Options:

1. % The Lowland

Z. % In Other Words

3. ® Interpreter of Maladies
4. ¥ White Tiger

Question Number : 69 Question Id : 99836717969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETATET gEae! o T ST ATEe! gRT A1 [odl T8 27

Options:

1. % zakz

2 ® g anR agd

3. % Zoeiey SiTE WIS O
4 ¢ gETIETN

Question Number : 70 Question Id : 99836717970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Abhay Ghat is the memorial of which of the following famous leaders?

Options:

1. ® Rajiv Gandhi

Z % Charan Singh

3. ¥ Morarjee Desai
4. % Indira Gandhi

Question Number : 70 Question Id : 99836717970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST TTE e # & Tre Hieeg ST @7 vHRE 27

Options:

1. % Traite Tmeft
o % oo R

3. ¥ AN A
4. % gRmrid



Question Number : 71 Question Id : 99836717971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The headquarters of World Trade Crganisation is situated at

Options:

1. % New York

2. ® Washington DO
3. ¥ Geneva

4 % Paris

Question Number : 71 Question Id : 99836717971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Toeer ST EITa T T

Options:

1. % =

2. ® gnamme St
2 ¢ T

4 % dfeg

Question Number : 72 Question Id : 99836717972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the first roclet launched from India?

Options:

1. % 1985
2 ¥ 1963
3. % 1972

4. % 1975

Question Number : 72 Question Id : 99836717972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT & Ugal LTcke WA ol o 1wl ToRT TIIT 77

Options:

1. % 1985
= ¥ 1963
3. % 1972
4 % 1975

Question Number : 73 Question Id : 99836717973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
EBudhaditya Mukherjee is awarded Fadma Ehushan for his contribution in the field of

Options:
1. ¥ Art-Music-Sitar

2. % Journalism

3. ® Science & Engineering-5Space
4. # Art-Acting-Films



Question Number : 73 Question Id : 99836717973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

erTiees gait B _____________ & & § I TS & TohT UaT T & AR T T 3
Options:

1. ¢ SeA-diia-Taar

o ® gFeriear

2 ® faam o et

4. & FAr- e ey

Question Number : 74 Question Id : 99836717974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which part of the Indian Constitution deals with finance, property, contracts and suits?

Options:

1. % Part ¥
2. ¥ Part ¥l
3. * Part VIII
4 % PartV

Question Number : 74 Question Id : 99836717974 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 17 ST T H 1 |7 97 Tae, |0, argere o 47 & Hared 27
Options:

1. % 9qmX

= ¥ AT EII

3. ® VI

4. % Ty

Question Number : 75 Question Id : 99836717975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Part ______ of the Indian Constitution deals with EITET ZenCy Provisions.

Options:

1. %® HVI
= ® HY
3. % HIX
4 ¥ HVIII

Question Number : 75 Question Id : 99836717975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT =T T T AT ______ AT T I HTere =l & Helter 31
Options:

1. % ¥Vl

=z % HE

3. % HIX



4. ¥ HVIII

Question Number : 76 Question Id : 99836717976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Frohibition of emplovment of children in factories comes under
Options:

1. % Cultural and Educational Rights

2. % Right to Equality
2. # Right to Freedom
4. % Right against Exploitation

Question Number : 76 Question Id : 99836717976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FE! # 7l & TR O Wid e

Options:

1. ¥ g =i M aféer
2. % FUET @ SATEET

3. ® wadaar o7 ST

4. & ST 3 FEATE STTERTE

Question Number : 77 Question Id : 99836717977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Constituent Assernbly held

Options:
1.9 11

2 % 15
3. % 14
4 % 10

525510115 Covering a total of 165 davs.

Question Number : 77 Question Id : 99836717977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Afere @ F F 165 faat & o

Options:
1.9 11

2. % 15
3. % 14
4. % 10

Question Number : 78 Question Id : 99836717978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Apart from Trent Boult, who became the first cricketer to claim the first hat-trick of the cricket World Cup
Zo1a?

Options:

1. ® Vijay Shankar



2. % Muharmmad Sharmi
3. % Bhuvneshwar Kumar
4 % azwendra Chahal

Question Number : 78 Question Id : 99836717978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3T diwe o AT, e e @0 2019 & USHT SR W7 Z1aT - aTe gl et ®i a7

Options:

1. ® e it
2 ggrag JHf
3. % Pt FER
4. ¥ g e

Question Number : 79 Question Id : 99836717979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the first playver who has scored 10,000 runs in ©DI cricket?

Options:

1. % Wirat Kohli

2. ® Rahul Dravid

2. ¥ Sachin Tendulkar

4. # Saurav Ganguly

Question Number : 79 Question Id : 99836717979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
QDI fFde # 10,000 ¥ a9 AT UEAT TEATS T i 57

Options:

1. % [T FIgaT
2. % TEE e
3. ¢ HEH I
4 % o e

Question Number : 80 Question Id : 99836717980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The first Cormmonwealth Games were organised in in 1920

Options:
1. % Canada

2. % France
2. % England
4 % ayustralia

Question Number : 80 Question Id : 99836717980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
190" _________ H Ogel TIEASH Sl ®T AT T2 7T 4m

Options:



1 % =T

2 % m
3 ® i
g4, aﬁii%}m
Arithrmetic Ability1
Group Number : 5
Group Id: 998367634
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithrnetic Abilitvl
Section Id : 998367755
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Pane: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 998367963
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 99836717981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the value of:

(016 = 2504+ 2500 =5 -0125 = (0.5 = 025)
Options:
1. ¥ 57

2. % 33
3. %79
4 % 75

Question Number : 81 Question Id : 99836717981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
el AT &

0,16 x 2504+ 2500 = 5 -0.125 < (0.5 = 0.25)
Options:
1. ¥ &7
2. % 383
R
4 % 75

Question Number : 82 Question Id : 99836717982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the value of:

- E x4+ lexz-14x2
Options:

1. % 352

2 ¥ 375

3. % 396

4 ® 3272

Question Number : 82 Question Id : 99836717982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl JATT &

SEE - ExA+ 1 wZ2-14 %2
Options:

1. % 352

z ¥ 375

2% 396

4 % 3272

Question Number : 83 Question Id : 99836717983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Three workers start hammering their swords at regular intervals of 10 seconds, 15 seconds & 20 seconds, how
many times do they strike together in & minutes?

Options:
1.v¥ &
2. % g
2% 10
4 % 12

Question Number : 83 Question Id : 99836717983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ejﬂg@ 10 Hhe, 15 Hhe 3] 20 Hhg & 10 Slaele 0 SIUHT Told i [ O @d §, 6 =g # o -1 a7 U 31 aw

Options:




1.¥ &g
2. %3
3. % 10
4 % 12

Question Number : 84 Question Id : 99836717984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the value of x.

1+ 2 =94+
Options:
1.%1
2 %2
3 % 3
4 ¥ 4

Question Number : 84 Question Id : 99836717984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3 T AT AT B

1+ 2w =9+
Options:
1.%1
2 %2
3. %3
4.9 4

Question Number : 85 Question Id : 99836717985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the square root of 104229,

Options:

1.¥ 223
2 ® 279
3. % 342
4 % 182

Question Number : 85 Question Id : 99836717985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
104329 HT Se J1T F1

Options:
1.9 3232

2. % 279
3. % 342
4. % 183



Question Number : 86 Question Id : 99836717986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the value of:

12-5E+16+EB+2x1-6)-58}
Options:
1. % 15
2 % 13
3. % 10
4 ¥ 11

Question Number : 86 Question Id : 99836717986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl AT &

12-5E+16+-(E+2x1-61-5}
Options:
1. % 15
2 % 13
2. % 10
4 ¥ 11

Question Number : 87 Question Id : 99836717987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Find the value of:

SIS+ (ZE+169)
Options:
1. %1
2 ¥z
3 ¥ 3
4 ¥ 4

Question Number : 87 Question Id : 99836717987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el 11 i)

V936 +/169))
Options:
1. % 1
2 %2
3 %3
4 v 4

Question Number : 88 Question Id : 99836717988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Evaluate : v - 1fv = 7;if (¥-1) = 1|v
Options:

1.1

o ® 1)y

3 % oy

4. % -1

Question Number : 88 Question Id : 99836717988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR T y - 1)y =7 ; 91 -1) = 1y
Options:

1.9 1

2 % 1y

3. % oy

4 # -1

Question Number : 89 Question Id : 99836717989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If P@2 = 3F - 4 then find the value of (3@4) - (2&@2).

Options:
1.% -1
z ¥ -5
3 %2
4. % 4

Question Number : 89 Question Id : 99836717989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

qfE P@Q = 3F - 4C; T (3@4) - (2@2) 7T Ipd 719 P
Options:

1% -1

2 ¥ -5

3 %2

4 % 4

Question Number : 90 Question Id : 99836717990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Simplify

(10 =34y | (6 = 5]8)

Options:

1.%1

2 W2

3 %3

4 % 4



Question Number : 90 Question Id : 99836717990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
L LT

(10 =34y | (6 = 5]8)
Options:
1.%1
2. ¥z
3% 3
4 % 4

Question Number : 91 Question Id : 99836717991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

20 boys and 15 girls attended a party. If the boys ate twice the food as compared to the girls, then calculate
the average food consumed by the boys. The total food provided was 9 kg?

Options:

1. % 150¢
2. % 200g
3. ¥ 200g
4. % 450 g

Question Number : 91 Question Id : 99836717991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T U] H 20 Agd T 15 A iHar ATHE 51 S sioor pia il 1 erl o ST ST G 6d §, 91 Ao SR @ S e
SAIET T S 0T ) TSI T T i i 9 TRt are

Options:

1. % 150¢g
2. % 200g
2. ¥ 200g
4 % 450 ¢

Question Number : 92 Question Id : 99836717992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Find the average of the first & odd prime nurmnbers?

Options:

1. % 833
= ¥ 933
2% 967
4 % 67

Question Number : 92 Question Id : 99836717992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEe 6 THuH ariTeer w1 ST |9 e

Options:



1. % 823
2. ¥ 933
3% 967
4 ® 567

Question Number : 93 Question Id : 99836717993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& class of 20 students scored an average of 864.5 marks in a test. If the teacher had wrongly added 26 instead
of 63 for one particular student then the correct average of marks is

Options:

1. ¥ 854
2. % E36
2% BE3

4 ® g55

Question Number : 93 Question Id : 99836717993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TOgT H 30 5131 & UF T 9 A 64.5 2w g1 T At e o o T g % T 62 o o 36 TEd T | SAIET AT
T 2 TR AT H

Options:
1. % E5.4

2 % B36
3. % BE3
4 ® g5h5

Question Number : 94 Question Id : 99836717994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whern 40 percent of a number is added to 48, the result is the number itself. Find the number.

Options:
1. % 75

2 ¥ 20
3% 54
4. ® 53

Question Number : 94 Question Id : 99836717994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el TRt T @7 40 Wi e, 48 H ST 4T 5, 1 UT0TH o §EaT 5191 5] TEdT 19 @)

Options:
1. % 7&

2. ¥ 30
3. % 54
4 % 58

Question Number : 95 Question Id : 99836717995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
What percentage is 12 of 207

Options:

1. % 20 percent
2. ® 40 percent
3. ¥ B0 percent

4. # 30 percent

Question Number : 95 Question Id : 99836717995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
12, 20 T Terg=T Wig e 27

Options:

1. % zoufde
2. % 40 nideT
3. ¥ G0 UideT
4. % 20 T

Question Number : 96 Question Id : 99836717996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The price of a fruit is increased by 20 percent and then decreased by 30 percent. What is the net charnge in
percent?

Options:

1. % 3 percent increase
2. ¥ 9 percent decrease
Z. % 9 percent increass

4 % 3 percent decrease

Question Number : 96 Question Id : 99836717996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Wl %1 &0 § 30 Ui & ghg 5167 2 oI T 30 uidad 1wt 511 2, g Uitadd uidad § &7 27

Options:

1. % 3 e Ihg
2. ¥ 9 uidaT wAT
= % onidaT Ihg
4, ¥ 3 uidsT wAT

Question Number : 97 Question Id : 99836717997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If an article is s0ld for Bs. 72, the profit is three times the cost price. What will be the profit if the same article
is sold for Rs. 547

Options:

1. ¥ Rz 36
2 % Rz 45
3. % Rs. 54

4 % Rs 63



Question Number : 97 Question Id : 99836717997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e U aeq 1 72 T H o7 ST &, 70 AT G &7 a4 47 81 i ge! aeg &1 54 F00 # o7 ST & at foear @ny gim?
Options:

1. % 26 ¥y

2. % 45 iy

2. % C4wEqy

4, % g3y

Question Number : 98 Question Id : 99836717998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Aritern sold for Rs. 24,000 vields a loss of 4 percent. Find the selling price to achieve a profit of 7 percent?

Options:

1. % Es 25500
2 ¥ Rs. 26,750
2. % Rs 27,250
4 % Rs 27,750

Question Number : 98 Question Id : 99836717998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T eq 4 Ui AT & g1 0 24,000 07 # <= 181 7 uidad T A w3 9 e ora S ey

Options:

1. % 25500 %0
= ¥ 28,750 w0
I% 27,2500
4. % 277500

Question Number : 99 Question Id : 99836717999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& dealer sells 450 sacks of wheat at & percent profit and 50 sacks of wheat at 2 percent loss. The cost price
per sack of wheat is BEs. 200, What is his net profit?

Options:

1. ¥ REs 20,800
2. % Rs 21,400
2. % Rs 21,800
4 % Rs 23200

Question Number : 99 Question Id : 99836717999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T Tl T 6 Widad FTe UT 450 @18 g +edT § S 2 Wid e e UT S0 &t g skl g1 g &1 Hid sliel sieg S00 F0 )
TEHT g A AT 57

Options:
1. % 20,800 707



2. % 21,400 FT
3% 21,800 7T
4. % 23,200 %7

Question Number : 100 Question Id : 99836718000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& and B together earn Bs. 1500, if 3/2 of A's share is equal to 14 of B's share, how rmuch does & earn?
{Found off the numbers to the nearest rupees)

Options:

1. ® Es E1G
z ¥ Rs. 215
2. % Rs 128G
4 % Rs 750

Question Number : 100 Question Id : 99836718000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A S E T fieee 1500 00 FA 8 Fie A Fieed &1 32, B F Eed oF 14 & a¥mex o, a1 A Torg=m FAaT 57 (Femet &f

T a T g "iiET @i
Options:

1. % B15 &0

2 ¥ 215 &7

3. % 1 285 @07

4 % FEO T

Arithmetic Ability2

Group Number : 6
Group Id: 998367635
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrmetic Abilityz

Section Id : 998367756
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20
Display Number Panel: Yes



Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 998367964
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 99836718001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the Inwverse ratio of 2:5:77

Options:

1.9 35:14:10
2. % 1472
2% 7145
4 % 5149

Question Number : 101 Question Id : 99836718001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2:5:7 W o ST AT ®ei7
Options:

1.9 35:14:10

2 % 1472

3% 7145

4. % 5149

Question Number : 102 Question Id : 99836718002 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& wall of size 10 ft. x 12 ft. requires 20 litres paint. How much paint will be required for a wall of size 8 ft. x €
ft.?

Options:

1. % EL
2 ¥ 3L
3% 12L
4 % 15L

Question Number : 102 Question Id ;: 99836718002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

10 BT x 12 HIT S &1 X & W7 20 wiet U7 & angsm@ar 5141 81 8 B2 x 6 e & S F o g sie o &
MTSTEaT IiT?

Options:

1.% 6L
z ¥ 3L
3% 12L
4 % 15L



Question Number : 103 Question Id : 99836718003 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Calculate the compound interest at 10 percent on a surr of Bs 2000 at the end of the 3rd year?

Options:

1. % 260
2. % 540
3. ¥ EE2
4. % 520

Question Number : 103 Question Id : 99836718003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 o o ST B 2000 T & IS uT 10 i oy s H1 T0ET %7

Options:

1. % 260 %007
2. % 540 &y
2V GEZ T
4. % E20 w7

Question Number : 104 Question Id : 99836718004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

F borrows Es. 500 at 10 percent p.a. simple interest for & years. He repays Es. 100 at the end of the 2nd year
and the 4th year each, and the final amount at the end of the Sth year. What is the amount he paid at the end
of the 5th year?

Options:

1. * Es 5G0
2. ¥ REsE510
2. % Rs E5&0

4 % Hs 520

Question Number : 104 Question Id : 99836718004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

P 500 007 10 Widard 0fd @ | 0= W S |7 & o0 & a1 5l A e A o o H oW uedw ad 4 g & 2 H 100
T T 37§ S1C 5 o anf o aid # gy 10 o <1 B Uil @ o 31T H g fepr afd g e

Options:

1. % S50 &
2. % 510 %0
2. % LeQ
4 % G20 w7

Question Number : 105 Question Id : 99836718005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the first year family & earned Es. 1,20,000, its yvearly incorme increased by 10 percent per year in the next
two years, and in the second vear, it earned an additional Rs. 20,000, What is the rate of increase of the
family's income from 15t vear to the 3rd vear?

Options:



1. ¥ Z7.67 percent
2. % 35 percent

3. % 32 33 percent
4. % 3966 percent

Question Number : 105 Question Id : 99836718005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT UER & Tge e | 1,20,000 BUT FHIAT § & IHEGT AT 377 § a0l & aut # 10 widea uid o $f 3hg 38 o gat af #
o AT 20,000 #0007 FATEM 1 a9 & 6 o a@ JEET ST Jhe 91 2 FAT 57

Options:

1. % 3767 uidua
2. % S UdaT

3. % 32330

4 ® 2966 Uit

Question Number : 106 Question Id : 99836718006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tw trains running in opposite directions cross each other in 10 seconds. The lengths of the trains are 125 m
and 175 mrespectively, The speed of one train is 26 kn/h. Find the speed of the other train.

Options:

1. % ZE km/h
2. % 48 km/h
2. % g0 km/h
4 ¥ 72 lanfh

Question Number : 106 Question Id : 99836718006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T Tear # 2t amet St ar 10 9% § UF T OR T 51 (ATl & AdTe @A 125 m 3T 175 m 71 &t
TATTIET W i 36 kanfh 31 91 TeTTe T & T =0 s

Options:

1. % 26 km/h
2. % 48 km/h
2 % G0 km/h
4. ¥ 72 lamfh

Question Number : 107 Question Id : 99836718007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A and B run at speeds of 2 kmfh and 2 kmifh respectively. They start running at the same tirme. What is the
distance covered by & when B completes 4.5 kimn?

Options:
1. % 15km

2. % 2km
2% 25km
4. ¥ 3 km



Question Number : 107 Question Id : 99836718007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A TR M 2 knjh &3 kmjh F T HSisd f S UF el 0T S SIS JE Fd &, Ta B 4.5 kn T adT ¢ af &4 grrag
1 T 8T vt 27

Options:

1. % 15km
2. % Zkm
2% 2E8km
4 ¥ Zkm

Question Number : 108 Question Id ;: 99836718008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& and B are separated by S0 lans. A moves towards E at 20 km/h, B moves towards & at 45 krn/h and they
meet after certain time. How much distance has & covered when they meet?

Options:

1. % 10km
2. % 15km
2 ¥ 20km
4 % 25 km

Question Number : 108 Question Id : 99836718008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A SWE UF T8¢ € 50 km SFT T 81 30 kmy/h 0T A, B & W a5aT 5, 45 kan/h W E, A & 3 @547 5 3 o e
AT & a5 HECERECEE I U TTHE?

Options:

1. % 10km
2. % 15km
2V 20km
4 % 25 km

Question Number : 109 Question Id ;: 99836718009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& tearmn of researchers drilled ice in Antarctica at 10 metres per day, but the ice kept reforming. The if total
depth drilled in & days was 40 metres, at what rate was the ice reforming?

Options:

1. % Zrmin
2. % 4min
2. % §min

4 % Fmin

Question Number : 109 Question Id : 99836718009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arerepa et o O 10+ STeThiedT # Wid T 10 HiTt Pt et & ath # 16 o1, HieeT alth o1 ST <1t Tgn 4ie; 5 Tt # f2a it g
FT TR 40 Tiew off, 3t anh Ryt 3t & o w417

Options:



1. % 2min
2. % 4min
3. % 6min

4 % Fmin

Question Number : 110 Question Id : 99836718010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six men working for 15 days can build a road. The same work can be done by four men and four women in 15
days. How marny worren can corplete the worlk: in 15 days?

Options:
1. %8
2. % 10
IV 12
4 % 14

Question Number : 110 Question Id : 99836718010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

7% FW 15 ToA1 9 FH 9 U TS F1 (AT B qd 51 T51 1 I 020 3 =% Algay 15 At # s awdt 51 15 At
ﬁﬂgﬁ{nﬁmaﬂﬂwmﬂﬁﬁ? G

Options:
1. %8
2. % 10
=¥ 12
4 % 14

Question Number : 111 Question Id : 99836718011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If it takes x hours to fill an entire swirniming pool with the given tap and v hours to drain it completely with the
given drain, how much time will it take to fill 2/8th of the empty pool if both the tap and drain are open?
LA SSUITIE X = 7)

Options:

1. % Si-v)/8
2. % Sx-Cy
2% Sy Buy
4 % 38w x]v)

Question Number : 111 Question Id : 99836718011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
At Ty T = o e TEa i OF ol 9= O 3 O @ B ofY T T AT O | 56 U aXE  Sg] HaTe & oy y O @ g, av
Aol OF & 3/ 8 o Teea ot wwe o e |w @ 9 99 o At g9 get 517 (A o ey

Options:

1. % 55—y | 8
2. % Zx -Gy
3V 3 (y-x) | Bxy
4. % 38w (v



Question Number : 112 Question Id : 99836718012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the total area of circles & and B if the radivs of A = 2cmand B = 4 cml?

Options:

1. % 9s5gcm

2. % 16 sq cm

3. ¥ FBEV sqom
4, % 2E 50 CIm

Question Number : 112 Question Id : 99836718012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT T A = 2 Cn ARE = 4 o @ =T g, 97 A 3K E & T 820 P AT H)
Options:

1. % 9sgcm

2. % 16sqcm

3. ¥ FB.E7 sq cm

4 % 36 50 cm

Question Number : 113 Question 1d : 99836718013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the length of an arc of a circle with radius 70 cm and sector angle 26 degrees.

Options:

1. % 22cm
z ¥ 44 cm
2% BEcm

4. % B3 cCm

Question Number : 113 Question Id : 99836718013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U g Fd T 70 cm 3% 99 ®107 36 T2 31 39 I & I 6 A4S ® A dee

Options:

1. % 2Z2cm
2 ¥ 44 cm
2. % gEcCm

4 ® B3 cm

Question Number : 114 Question 1d : 99836718014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The side of a cube is & o Find the difference in the surface area of the full cube and the surface area of two
sides of the cube.

Options:
1. % 150 s5g cm
2. % 12059 cm



= ¢ 100 5g cm
4. % 7S5sgcm

Question Number : 114 Question 1d : 99836718014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T O T AT S o 31 O oF T9a1 8F6A S O o o 9T o 836 7 3% J1d @7

Options:

1. % 150sg cm
2. % 1205g cm
= ¥ 100 5q cm

4, % 75359 cm

Question Number : 115 Question Id : 99836718015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The f@llowing pie chart was made b‘j.F a student to show the bI‘EElkup of marks he scored in an exarn. The pie

chart shows the proportion of marks in the form of degrees of the central angle that each subject represents.
His Math marks werea greater than his English marks b‘j.F

Breakup of marks scored in an exam

Options:

1. % 30.20 percent
2. % 3570 percent
3. % 40.90 percent
4, % 50,30 percent

Question Number : 115 Question Id : 99836718015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TrgietieT UTe o e 979 &7 U DO # 0T 900 T Sl & TR @1 gl o ol ST 7T 31 UTs 208, dha < @07 o 12T o &0
o T T AT S B, S e fOuy w gartaT g SHar N & SfF ST O efw |

U GO H 30T &1 T

Options:

1. % 3020 uideT
2. % 3570 nide
3. ¥ 40,90 UideT
4. % 50.30 nidaT

Question Number : 116 Question Id : 99836718016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The table shows GDP growth rate of 5 countries for 7 years. If the GDPs of Country 5 and T was $100 bn and
$200 bn respectively at the end 2009, What was the difference in their GDPs at the end of 20107 (GDP =
Gross Domestic Product)

Year |Country $|Country T|Country U Country V|Country W
24% 10% 18% 23%
35% 8% 20% 19%

g[8 888
¥|¥(E RS

39% 11% 16% 10%
45% 7% 12% ™%
41% % 19% a%
2010 15% 40% 12% 16% 17%
2011 12% 8% 16% 14% 20%
Options:
1. % 3175 bn
2. % 3195 bn
3. ¥ 3165 bn
4. % 3155 bn

Question Number : 116 Question Id : 99836718016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TRt 7 7at & f7 S Saf 3 GDP Tor argma &1 gaid T 8 9ig 2009 F s § 29 S &R T &1 GDP #Ha: $ 100 bn & §
200 br & 2010 & a@ # 394 GDP § F07 sid 417 (GDP = d&d oy Jodig)

W | qWs | qWr | W | WMy | TWMw
2005 25% 24% 10% 18% 23%
2006 18% 35% 8% 20% 19%
2007 24% 39% 11% 16% 10%
2008 29% as% 7% 12% 7%
2009 27% a% 9% 19% a%
2010 15% 40% 12% 16% 17%
2011 12% 38% 16% 14% 20%

Options:

1. % $175bn

2 % $195bn

3. ¥ $165 bn

4 % $155bn

Question Number : 117 Question Id : 99836718017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The f@llowing pie chart shows the expenditure incurred by a man over a month under varicus heads. What is
the difference betweern the angle of the pie diagram showing expenditure on rent and expenditure on
COonveyance?

Expenditure incurred by a man over a
month

Options:
1. % 12 degrees

2. ¥ 18 degrees
% % 9degrees
4. % 16 degrees

Question Number : 117 Question Id : 99836718017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TrafeiT o o # e weie B U ot ar fateg wEt ¥ aga By e a6t gatar mar ) e ot s w0 o s
AT STet UTE 31T oF 10T o & 1l Topa = o7 3fa 27

o 7R A o e R R s

Options:

1. % 12 T2t
= ¥ 15 f2ut
3 % g T
4. % 16 {20t

Question Number : 118 Question Id : 99836718018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The bar graph represents the percentage breakup of tourists who spent their holidays in China, Japan, MNepal
or Bhutan during Christrnas in the year 2016, 2017 and 2018. The total number of tourists in these four
courntries in the year 2016 was 18000, and the total number of tourists in these 4 countries grew by 10
percent per yvear. What is the difference between the number of tourists visiting Japan in 2018 and number of
tourists visiting China in 20177 Round off to the next whole nurmber )

u{hima o lapan Firpal = Braitan

)
M e
s T
FTIN
s s s
s
1
s
O =
ol

Percentage of Tourists
FEFETINERIINNNNS

wr b
Year

Options:

1. 555

2. % 550

3. % goo

4. % SEE

Question Number : 118 Question Id : 99836718018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

TR TR Y 2016, 2017 3 2015 o Torand & S i, S, SuTe a7 o gz ar BaT o uieen! @ uid e feaeor w
gataT g @ 2016 # 54 g gt # wdew! & g |=ar 18000 off, o T el GEAT H §CCATH 10 Widar &1 ke 72l
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Question Number : 119 Question Id : 99836718019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following frequency polygon shows the average runs scored by S0 batsmen in a world cup series. What is
the curmulative frequency for the class interval 20-407

qde#T &1 gfaua
Fiiiibiiiibiiit

Options:

1. 555
2. % 550
3. % 5oo
4. % S8

]

Runs Scored
BEERBR3IABERS
b |

010 W0 2030 040 4050
Class Interval

Options:

1. % 220
2. % 250
3. % 280
4. ¥ 270

Question Number : 119 Question Id : 99836718019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
T ST ST Ueh Tebel o et # 50 Fwciarel BT =1y 10 Sl O ®1 SaiaT 1 30-40 o Byl Sla€e & oy Sl A
FT 57

010 10-20 20-30 3040 4050
HET Heallo
Options:
1. % 220
2. % 250
3. % 280
4. ¥ 270

Question Number : 120 Question Id : 99836718020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following frequency polygon shows the average marks out of 100 scored by 50 students each of class VII
and VIII. The number of students who scored more than 40 of Class VI is more than the number of students
who scored less than 60 of Class VI by

_s — (s ¥ Clasa VI
1
£
2 »
F 1% 1%
——
'g 1 2 f{,.-"—
- W0 /
i
E s
LY
-
o e
- 020 X4 @i W 100
Marks
Options:

1. ¥ 25 percent
2. ¥ 16 67 percent
3. % 1333 percent
4, % 20 percent

Question Number : 120 Question Id : 99836718020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T STegfel ST T VI ST VI o Weder SO ST GIer oty ooy 7 100 # & sl aieh i gariar g1 el VII & 40 § afféw
ST UTH - oTel BT31 i 9T ®aT VI & 60 & T 279 0T - OTel 3131 o 9T o ST 81

_mnw [ 2 Rt
F:' b
E »
E !
$
%
X 40 80 b-40 B-100
¥
Options:
1. % 25 gt

= % 1667 uldad
=z ¥ 1333 ulhdeT

4 % 30 UfdaT

rereral Englishl
Group Number : 7
Group Id: 998367636
Group Maximum Duration : 0
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Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
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Sub-Section Number: 1
Sub-Section 1d: 998367965
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 99836718021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

The Governor revolked [ his decision to suspend [ the corrupt and erring officials.
Options:

1. ®* The Gowvernor revoked

2. * his decision to suspend

2. % the corrupt and erring officials

4. % Mo Error

Question Number : 121 Question Id : 99836718021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

The Governor revolked | his decision to suspend | the corrupt and erring officials.
Options:

1. ®* The Governor revolked

2. % his decision to suspend

2. % the corrupt and erring officials

4. % Mo Error

Question Number : 122 Question Id : 99836718022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'.

MNarayan had invited to his | in-laws for dinner | last Sunday.
Options:

1. % MNarayan had invited to his

2. % in-laws for dinner

2. % last Sunday.

4. % IMNo Error

Question Number : 122 Question Id ;: 99836718022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Marayan had invited to his | in-laws for dinner | last Sunday.
Options:
1. % Marayan had invited to his



2. * in-laws for dinner
2 % last Sunday.
4. % Mo Error

Question Number : 123 Question Id : 99836718023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Mani pesled some potatoes | and cut them | within small small pieces.
Options:

1. % Mani peeled some potatoes

2. % and cut them

2. ¥ within small small pieces.

4. % Mo Error

Question Number : 123 Question Id : 99836718023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'.

Mani peeled some potatoes | and cut themn | within small small pieces.
Options:

1. % Mani peeled some potatoes

2. % and cut them

2. ¥ within small srmall pieces.

4. % Mo Error

Question Number : 124 Question Id ;: 99836718024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Civya is only student [ who has won | the prestigious award twice.
Options:

1. % Divya is only student

2. % who has won

2 ¥ the prestigious award twice.

4 % Mo Error

Question Number : 124 Question Id : 99836718024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Divya is only student [ who has won | the prestigious award twice,
Options:



1. ¥ Divva is only student
2. % who has won
3. * the prestigious award twice.

4. % Mo Error

Question Number : 125 Question Id : 99836718025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'.

Ealaji called all his friends | and told them meet me [ in the school as soon as possible.
Options:

1. * Ealaji called all his friends

2. ¥ and told thern meet me

2. % in the school as so0n as possible.

4. % MNo Error

Question Number : 125 Question Id ;: 99836718025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Ealaji called all his friends [ and told them meet me | in the school as s00n as possible.
Options:

1. # Ealaji called all his friends

Z % and told therm meet me

2. % in the school a5 s00n as possible.

4 % Mo Error

Question Number : 126 Question Id : 99836718026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segment that substitutes replaces) the braketed word segment correctly and completes the
seritence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

Padra is the most beautiful girl ( ever seen).
Options:

1. ¥ [ have ever seen

2. % | have ever saw

2. % [ had ever saw

4. % Do correction required

Question Number : 126 Question Id : 99836718026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes replaces) the braketed word segrment correctly and completes the
seritence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

Padrna is the most beautiful girl ( ever seen).



Options:

1. ¥ [ have ever seen
2. % [ have ever saw
2. % [ had ever saw

4. % No correction required

Question Number : 127 Question Id : 99836718027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segment that substitutes replaces) the braclketed word segrment Ccorrectly and completes the
Sentence meaningfully. salect the option Mo correction required’ if the sentence is correct as Zivern,

Gopal had gone out fwhen I called up to him last night).
Options:

1. % when I call up to him last night

2. % when I call hirm up last night

2. ¥ when I called him up last night

4. % when I called to him last night

Question Number : 127 Question Id : 99836718027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
seritence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

Gopal had gone out (when I called up to him last night).
Options:

1. % when I call up to hirm last night

2. % when I call hirm up last night

2. ¥ when I called hirm up last night

4. % when I called to him last night

Question Number : 128 Question Id : 99836718028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

select the word segrment that substitutes (replaces) the braketed word segment correctly and complates the
sentence meaningfully. Select the option 'no correction required' if the sentence is correct as given.

(Sirce Payal was rnot well), we decided to postpone our road trip.
Options:

1. ® Hence Payal was not well

= % Nevertheless Payal was not well

2. # Yet Payal was not well

4. % Mo correction required

Question Number : 128 Question Id : 99836718028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the word segrment that substitutes replaces) the braketed word segrment correctly and completes the
senitence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

(Since Payal was rot well), we decided to postpone our road trip.
Options:

1. # Hence Payal was not well

2. % Nevertheless Payal was not well

3. % Vet Payal was rot well

4. ¥ INo correction required

Question Number : 129 Question Id : 99836718029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

select the word segrment that substitutes replaces) the braketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

Fratibha has left for the day (@s she will not feeling well).
Options:

1. ¥ as she was not feeling well

= % assheis not felt well

3. % as she was not feel well

4. % No correction required

Question Number : 129 Question Id : 99836718029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the braketed word segrment correctly and completes the
sentence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

Pratibha has left for the day (as she will not feeling well).
Options:

1. ¥ as she was not feeling well

2. % 3s she is not felt well

2. % as she was not feel well

4. # Mo correction required

Question Number : 130 Question Id ;: 99836718030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

select the word segment that substitutes replaces) the braketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

[ hawe always knowrl him as @ loval British citizen living in the United States),
Options:

1. % aloyal British citizen lived in the United States

Z. % aloyal British citizen lives in the United States

2. % loval British citizen living in the United States

4. % Mo correction required

Question Number : 130 Question Id : 99836718030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the braketed word segment correctly and completes the
senterice meaningfully. Select the option 'no correction required’ if the sentence is correct as givern.

[ hawe always knowr him as (@ loyal British citizen living in the United States).
Options:

1. * aloval British citizen lived in the United States

2. % aloyal British citizen lives il the United States

2. % loyal Eritish citizen living in the United States

4 % MNo correction required

Question Number : 131 Question Id : 99836718031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Following a huge number of cornplaints, the officials the bowler's actions carefully.

Options:
1. % saw

2. % peeped at
2. % glanced at

4 % eyarmined

Question Number : 131 Question Id : 99836718031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Following a huge nurmber of complaints, the officials
Options:
1. % saw

the bowler's actions carefully.

2. % peeped at
2. % glanced at

4 % exarmined

Question Number : 132 Question Id : 99836718032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The elepharnt
Options:
1. % falled

2. ¥ uprooted
= % falled

4. % fallen

a huge tree and threw it at the crowd of villagers.

Question Number : 132 Question Id : 99836718032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The elephant a huge tree and threw it at the crowd of villagers.

Options:
1. % falled

2. ¥ yprooted
2% felled
4 % fallen

Question Number : 133 Question Id : 99836718033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The teacher ______ his students to keep quiet,
Options:

1. * asked to

2. % told to

3. ¥ asked

4 % z3id

Question Number : 133 Question Id : 99836718033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Theteacher ______ his students to keep quiet,

Options:
1. % asled to

2% told to
= ¥ asked

4 # =3id

Question Number : 134 Question Id : 99836718034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Adil weenit to his native village to ____ his wote.

Options:
1. % caste

2. ¥ cast
2. % rCasting
4. % giving

Question Number : 134 Question Id : 99836718034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Adil weent to his native village to his wote.



Options:

1. % rcaste
= ¥ cast

2. % rasting

4. % giving

Question Number : 135 Question Id : 99836718035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Pramod isan ______ rmarn who likes to use a bicycle instead of a car.
Options:

1. * axiormatic

2. % erroneous

3. ¥ old-fashioned

4. % ostentatious

Question Number : 135 Question Id : 99836718035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Framod is an mar who likes to use a bicycle instead of a car.
Options:

1. #* axiomatic

2. % erroneous

2. 9 old-fashioned

4. % ostentatious

Question Number : 136 Question Id : 99836718036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Since the bride was not keeping well, the wedding was
Options:

1. ¥ postponed

2. % called

3. % briefed

4. * posted

Question Number : 136 Question Id : 99836718036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Since the bride was not keeping well, the wedding was
Options:
1. ¥ postponed



2. % called
3. % briefed
4. % posted

Question Number : 137 Question Id : 99836718037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Garima was_______ to see her father after = years.
Options:

1. * nauseated

= ¥ glated

2. % belated

4. % cheered

Question Number : 137 Question Id : 99836718037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

Garima was_______ t0 see her father after = vears.

Options:
1. % nauseated

2 % elated
2. % pelated

4. % cheered

Question Number : 138 Question Id : 99836718038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The refugess often talk about their homeland
Options:

1. ¥ nostalgically

2. * irritatingly

2. % belatedly

4. % knowingly

Question Number : 138 Question Id : 99836718038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate word that fills in the blank correctly and completes the sentence meaningfully.

The refugees often talk about their hormeland
Options:
1. % nostalgically

2. % irritatingly
3. % belatedly



4. % knowingly

Question Number : 139 Question Id : 99836718039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jurnbled up, and labeled P, @, E and 5. Select the option that gives the
correct sequence in which these parts can be rearranged to form a meaningful and granumatically correct
Santerce,

P: bags and ran towards the
2 the children picked their
E: school playvground

5. after the bell rang
Options:

1. % QSFR

2. % PSOR

3. % QFPRES

4 % SORP

Question Number : 139 Question Id : 99836718039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sorme parts of a sentence have been jumbled up, and labeled P, &, B and 5. Select the option that gives the
correct sequence in which these parts can be rearranged to form a meaningful and grammatically correct
Sertence.

P bags and ran towards the
2 the children picled their
E: school playground

5. after the bell rang

Options:

1. % QSPR
2. % PSOR
2. ¥ OPRS
4 % SQORP

Question Number : 140 Question Id : 99836718040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jumbled up, and labeled P, &, E and 5. Select the option that gives the
correct sequence in which these parts can be rearranged to form a meaningful and grammatically correct
serntence.

F: in the towmn

: with her mother
E: and three brothers
5. Maya lives

Options:

1. % FROS
2. % QRSP
= ¥ SPOR
4 % REQP



Question Number : 140 Question Id : 99836718040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jurmbled up, and labeled F, &, E and 5. Select the option that gives the
correct sequence in which these parts can be rearranged to form a meaningful and grammatically correct
Sertence,

P i the towtl

Z: with her mother
E: and threes brothers
5. Mava lives

Options:

1. % PROQS

2. % QRSP

3. ¥ SPOR

4. % RSQF
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Question Number : 141 Question Id : 99836718041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The sentenices of a paragraph have been jumbled up, and labeled P, &, R and 5. Select the option that gives the
correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: Soon, he bought a second-hand taxi.

: There, he took up a job as a driver.

E.: Farukh lived i1 a tribal harmlet a5 a Child,

5. He migrated to Mumbai when he was eighteery.

Options:

1. % ROPS
2. % REQP
2. % SREPQ
4 % POSE

Question Number : 141 Question Id : 99836718041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The sentences of a paragraph have been jumbled up, and labeled P, G, B and 5. Select the option that gives the
correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: Soor, he bought a second-hand tasxd.

3 There, he tool up a job as a driver.

E.: Farukh lived in a tribal harmlet as a child.

5 He migrated to Mumbal when he was eighteer.

Options:

1. % ROPS
2. % RSP
2. % SRPOQ
4 % POSE

Question Number : 142 Question Id : 99836718042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 closest in meaning SYHONYR 1o the word given belca.

MULLIFY
Options:

1. * Berate
= % Mollify
3. % DMNegate

4. % Comprehend

Question Number : 142 Question Id : 99836718042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning SYHNONYM o the word given below,

MULLIFY
Options:

1. * EBerate
= % Mollify
2. % Degate



4. % Comprehend

Question Number : 143 Question Id : 99836718043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that 15 opposite in meaning ANTOMNYM to the word given balow.

HUMOMNGOUS
Options:

1. * Hurnid
= % Bulky
3. % et

4. ¥ Tiny

Question Number : 143 Question 1d : 99836718043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning ANTOMNYM to the word given balow,

HUMOMGOUS
Options:

1. % Hurnid
2. # Bulky
3. % et

4. ¥ Tiny

Question Number : 144 Question Id : 99836718044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning SYHONYM 1o the word given belca.

LUSCIOUS
Options:

1. # Deserted
2. % Morbid
3 % Arid

4. % Delicious

Question Number : 144 Question Id : 99836718044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that 15 closest in meaning SYHNONYM 6o the word given below.

LUSCZIOUS
Options:

1. ® Deserted
= % Morbid
3. % Arid

4. % Delicious



Question Number : 145 Question Id : 99836718045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning ANTOMNYM to the word given balow,

COWARD
Options:

1. ¥ Gutsy
% Jerk
= % Newhy
4. % Guilty

Question Number : 145 Question 1d : 99836718045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning ANTONYR to the word givern belomw,

COWARD
Options:

1. ¥ Gutsy
2. % Jerk
2. % DMewby
4. % Guilty

Question Number : 146 Question Id : 99836718046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word HOMOMNYM that fills in the blank and makes the sentence meaningful.

The medicine was quite _____ .
Options:

1. % affect

2. % effect

2. % affective

4 W effactive

Question Number : 146 Question Id : 99836718046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the corract word HOMOMNYM that fills in the blank and makes the sentence meaningful.

The medicine was quite _____ .

Options:
1. % affect

o % effect
2. % affective
4 W effective

Question Number : 147 Question 1d : 99836718047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. ¥ Maleable

2. ¥ Malleable

3. ¥ Malliable

4. % Maliable

Question Number : 147 Question Id : 99836718047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly, Choose the correctly spelt word.,

Options:

1. % Maleable
2. ¥ Malleable
3. # Malliable
4. % Maliable

Question Number : 148 Question 1d : 99836718048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Foreign
= % Forein
3. % Foregn

4. % Foriegn

Question Number : 148 Question Id : 99836718048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly, Choose the correctly spelt word.,

Options:

1. ¥ Foreign
2. % Forein
2. % Foregn

4. % Foriegn

Question Number : 149 Question Id : 99836718049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. # [gnonomy
Z % 1gnoninty

2. ¥ [gnominy

4. ® [ gononony

Question Number : 149 Question Id : 99836718049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Ignonomy
2. ® lEnonirny

3. ¥ lgnominy

4. # [Fononomy

Question Number : 150 Question Id : 99836718050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

See eye to eye

Options:

1. % Agree with someons

= % Meet someone for the first tirme
2. % Fall in love with someone

4. % Be seated very Close 1o each other

Question Number : 150 Question Id : 99836718050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idiom or phirase giverl belosw,

See eye to eye

Options:

1. ¥ Agree with sormeons

= % Meet someone for the first tirme
3. % Fall in love with someons

4. % Be seated very Close to each other

Question Number : 151 Question Id : 99836718051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

At the drop of a hat
Options:

1. % Ata predecided venue
2. ¥ Without hesitation

2. % A small mistakes

4. # A stylish person

Question Number : 151 Question Id : 99836718051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

At the drop of a hat



Options:

1. ¥ At a3 predecided wenue
= ¥ without hesitation

3. % A small mistake

4. % 4 stylish person

Question Number : 152 Question Id : 99836718052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idicm or phrase giverl below

Eeat around the bush

Options:

1. ® Tocut down a forest

= % Tomake space for agriculture
2. ¥ Avoiding the main topic

4. % Go on a bird hunting expedition

Question Number : 152 Question Id : 99836718052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

Eeat around the bush

Options:

1. % Tocut down a forest

2. % Tomake space for agriculture
2. ¥ Avoiding the main topic

4. % Goon a bird hunting expedition

Question Number : 153 Question Id : 99836718053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

Undue favour showrl by a person in power to his relatives
Options:

1. ¥ Notation

2. % Relativism

2. % Populism

4. ¥ Nepotism

Question Number : 153 Question Id : 99836718053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the EXPIEsSI0NSs giverl below.

Undue favour showr by a person in power to his relatives
Options:
1. ® Notation



2. % Relativism
3. % Populism

4.9 MNepotism

Question Number : 154 Question Id : 99836718054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'orne word ! for the EXPIEsSIoNSs giverl below,

Able to foretell what will happen in future
Options:

1. % Futuristic

= % Prescient

2. # Temporal

4 % Amicatle

Question Number : 154 Question Id : 99836718054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the ERPIessions giverl below,

Able to foretell what will happen in future
Options:

1. % Futuristic

2. ¥ Prescient

2. # Ternporal

4 % Armicatble

Question Number : 155 Question Id : 99836718055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

That through which light cannot pass
Options:

1. % Ominous

2. % Transluescent

3. ¥ Cpaque

4. % Transient

Question Number : 155 Question Id : 99836718055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'orne word ! for the EXPIEsSIoNSs giverl below,

That through which light cannot pass
Options:

1. ® Crrinous

= % Transluescent

3. ¥ Cpaque



4. % Transient

Sub-Section Number: 2
Sub-Section 1d: 998367967
Question Shuffling Allowed : Yes

Question Id : 99836718056 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cuesticon Label | Comprehension

Eead the passage below and answer the questions that follow.

After graduating from college, he started selling correspondence courses to the ranchers among the sand hills
of western Nebraska and eastern Wyormning. [n spite of all his boundless energy and enthusiasm, he couldn't
make the grade. He becarme so discouraged that he went to his hotel room in Alliance, MNebraslka, in the middle
of the day, threw himself across the bed, and wept in despair. He longed to go back to college, he longed to
retreat from the harsh battle of life; but he couldn't. S0 he resolved to go to Omaha and get another job. He
didn't hawve the money for a railroad ticket, 5o he travelled on a freight train, feeding and watering two
rarloads of wild horses in return for his passage. After landing in Omaha, he got a job selling bacon and soap
and lard for Armour and Company. His territory was up among the Eadlands and the cow and Indian country
of western South Dakota. He covered his territory by freight train and stage coach and horseback and slept in
picneer hotels where the only partition between the rooms was a sheet of muslin. He studied books on
salesmanship, rode bucking broncos, played polker with the Indians, and learned how to collect money. And
wher, for example, an inland storekeeper couldn't pay cash for the bacon and hams he had ordered, Dale
Zarnegie would take a dozen pairs of shoes off his shelf, sell the shoes to the railroad men, and forward the
receipts to Arrmour and COormparny.

Sub questions

Question Number : 156 Question Id : 99836718057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who or what is the subject of this passage?

Options:

1. ®* The Eadlands of Omaha

2. % The cowboys of South Dakota
3. % Dale Carnegie

4. % Armour and Cormnpany

Question Number : 157 Question Id : 99836718058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What state of mind do the words 'retreat from the harsh battle of life' conwey?

Options:

1. ®* That the protagonist was hopeful about his future

2. * That the protagonist was happy with his present circurmstances
2. % That the protagonist was angry with his past circumstances

4. % That the protagonist felt hopeless in the face of challenges throwrn by life



Question Number : 158 Question Id : 99836718059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which word in the passage means the same as hopelessress?
Options:

1. % Resolve

2. % Retreat
=. * Freight
4. % Despair

Question Number : 159 Question Id : 99836718060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where did the protagonist go to get ‘another job™

Options:
1. % Cmaha

2. % Wyorming
3. % MNebraska
4. % MNewark

Question Number : 160 Question Id : 99836718061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the protagonist's latter ermployer?

Options:

1. % The Badlands Alliance
2. % South Dakota Company
=% Armour and Company

4. % Pioneer Hotels

Question Id : 99836718056 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label - Comprehension

Read the passage below and answer the questions that follow.

After graduating from college, he started selling correspondernice courses to the ranchers among the sand hills
of western MNebraska and eastern Wyormning. In spite of all his boundless energy and enthusiasm, he couldn't
make the grade. He became so discouraged that he went to his hotel roorm in Alliance, Mebraska, in the muddle
of the day, threw himself across the bed, and wept in despair. He longed to go back to college, he longed to
retreat from the harsh battle of life; but he couldn't. 5o he resolved to g0 to Omaha and get another job. He
didn't have the money for a railroad ticket, so he travelled on a freight train, feeding and watering two
carloads of wild horses in return for his passage. After landing in Omaha, he got a job selling bacon and soap
and lard for Armour and Company. His territory was up among the Badlands and the cow and Indian country
of western South Dakota. He covered his territory by freight train and stage coach and horseback and slept in
picneer hotels where the only partition between the rooms was a sheet of muslin. He studied books on
salesmanship, rode bucking broncos, played poker with the Indians, and learned how to collect money. And
when, for example, an inland storekeeper couldn't pay cash for the bacon and hams he had ordered, Dale
Carnegie would take a dozen pairs of shoes off his shelf, sell the shoes to the railroad men, and forward the
receipts to Armour and Cormparny.

Sub questions



Question Number : 156 Question Id : 99836718057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho or what is the subject of this passage?

Options:

1. # The Badlands of Omaha

2. % The cowboys of South Dakota
3. ¥ Dale Carnegie

4. % armour and Company

Question Number : 157 Question Id ;: 99836718058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What state of mind do the words 'retreat from the harsh battle of life' convey?

Options:

1. % That the protagonist was hopeful about his future

2. % That the protagonist was happy with his present circumstances
3. % That the protagonist was angry with his past circurmstances

4. % That the protagonist felt hopeless in the face of challenges throwr by life

Question Number : 158 Question Id : 99836718059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which word in the passage means the same as hopelessress?
Options:

1. % Resolve

2. % Retreat

= % Freight

4 ¥ Despair

Question Number : 159 Question Id : 99836718060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where did the protagonist go to get ‘another job'

Options:

1. % Omaha
2. ® Wyoming
Z. % Nebraska
4. % Newark

Question Number : 160 Question Id : 99836718061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho was the protagonist's latter emnployer?

Options:
1. # The Eadlands Alliance
2. % South Dakota Company



2. ¥ Armour and Cormpany

4. % Pioneer Hotels

General Hindil

Group Number : 9
Group Id: 998367638
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Ferneral Hindil

Section Id : 998367759

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 998367968
Question Shuffling Allowed : Yes

Question Number : 161 Question Id ;: 99836718062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TamET wa § an Twent # € 39 Twen %7 909 1 S 399 deg 7 957 w5
Options:

1. % 1ia

2. % ggar

3 ¢ oi-uf

4. % T

Question Number : 161 Question Id : 99836718062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ng # oW Swent § &, 36 Fwen &7 =ae o S S8 deg &7 TR HweT £
Options:

1. % Thar



2. % dpa
= ¥ gi-uf
4 % FqmE

Question Number : 162 Question Id : 99836718063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et ng & aw et § 9 39 Heey @1 o9 @8 91 92t seg =71 a9t Bwer 781 g§h

Options:

1. % guwr
= ¥ am-aw
3. % fiedtd
4. ® FHIT

Question Number : 162 Question 1d : 99836718063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng § o Beedt § & 39 Swen @7 a9 ot A1 B2t geg w7 a5t Swew a5t gh

Options:

1. % g
2. ¥ Im-E®
3 ® fiedtd
4. ® FHH

Question Number : 163 Question Id : 99836718064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT w o, W dwedt § &, 39 Towe @1 =ad & ST 18 0 g & 60 @51 sgeiiy qare & oy @1 fdwe g

T

Options:

1. & o & |A 4 & AT Rl aftgm
2. ® O % g S

3 ¥ mmRuT e r

4, ® FraagImw

Question Number : 163 Question Id : 99836718064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET nd o, IR [dwedl § &, 39 ey @199 & A ey 10 g & WY w51 agaiiy q6re & Hug @ e ghn

TSI

Options:

1. & o % |AT 4 § AT Rl aftgm
2. ® O % g LW

% e A

4, % FraagAH



Question Number : 164 Question Id : 99836718065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT v, ar Teet # € 39 Been @1 50T @ 1 T 3 9 a1 9t Heed g

LA /g & 0 e B
Options:

1. % i

2. % amUg

=, o IR TR

4 % ggm

Question Number : 164 Question Id : 99836718065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TfeET v o o Bwedt § & 39 Swew @1 = o A1 T & A aeT wet Eaed gh

T /g & U ferEaraT 8
Options:

1. % el R

2. % W

3. ¥ TR TR

4 % ggw fer

Question Number : 165 Question Id : 99836718066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW Awedt § 9, 39 Hwed @ g @ S 150 7Y e & o slea & 9 F T Ag! fdwed 5

EEIR:CIRECE IRt

Options:

1. % Toare TR am s
2. % Ui i e
3. % FIearE TS STee
4, & qiHERE TS reey

Question Number : 165 Question Id : 99836718066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEimET vg #, or Tt # 4 39 Teen o7 209 @ 1 Ty T are & TR0 s & A @ el deed gh

FIT HAT Fotq AT i gh
Options:
1. % woHamEE TR dm e

2 % Tidawer TraTedeT seT
3. ® g i s
4 & gleEmTaTe TS aeT

Question Number : 166 Question Id : 99836718067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T v §, o Seent 8§ 7, 39 Swer o1 a9 o A1 B0 77 s & it Meg ®1 |l dwed dg1 5l

P
Options:

1. % =¢

2. ® famzar

Z. o gl

4. % T

Question Number : 166 Question Id : 99836718067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg # ow Awedt § 9, 39 ey @ oaq @ S 150 T Seg, F Taiaame Seg %7 50 [deed "51 8l

Pt
Options:

1. % =¢

2 ® TEmeAT

3. ganf

4 % WA

Question Number : 167 Question Id : 99836718068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET vg #, or et # 4 39 Been o7 209 @ S B T ge % uaiaar’ geg @1 @R dwed T8l 8

T
Options:
- Tarc
2 % s
z. % gerted

4 % FTET

Question Number : 167 Question Id : 99836718068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateT v # ow Bwedt § 9 39 Swen @1 =749 o At =y 7 seg ¥ vafaamdt seg @ agt Heer =gt 3

XTI
Options:

1.9 T
o % o
3 % geteA

4. ® HEY

Question Number : 168 Question Id : 99836718069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg #, oW Hwedt § 9, 39 Hwed @1 oa9 & 91 150 T seg, & B Jeg @7 957 oaed 3

AT



Options:

1. % g

2. ¥ gam

3. ® Ty
4. % [mEedq

Question Number : 168 Question Id : 99836718069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET g # or Teet # 9 39 T @1 909 a0 1 TRy 70 g & TOEW seg @ wat Heed B

iUl
Options:

1. % wfur
2. ¥ zam
3 % Ty
4. % wmEia

Question Number : 169 Question Id : 99836718070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET v §, o et § §, 39 Seen o1 =709 o A1 G0 0 see & TR a=g @ anr Hwed 2

CHE
Options:

1. % fatde
2 ® g
3 ® qhEw
4 ¥ gig

Question Number : 169 Question Id : 99836718070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng ®, oW fwedt § 9, 39 Hwed &7 949 & A1 150 77 seg F B Jeg @7 d57 Tded 3

FT
Options:

1. % &iam
o ® g
3. % gEw
4. avw

Question Number : 170 Question Id : 99836718071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeRaT na 8, o el § 4, 39 Tl fowed ®1 90 B¢ AT 107 T Seg-J & o7f %7 Fal fowed 20

Tere - ST
Options:
1. SaT A ST



2 % g o syae
I ¥ oo MY e
4 % i o w=wEe

Question Number : 170 Question Id : 99836718071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Traferad v #, o Swed! 8 9, 39 951 Waew &7 g9- w1 To0 77 Teg-g % anf T anl fower

TeremA- e
Options:

1. & e o wae
2 % g o sae
3. ¥ oyaeT T TR

4. ® zoi =i E@ET

Question Number : 171 Question Id : 99836718072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaiafET vg # or et # 9 39 e @1 o0 3¢ 1 oy 7o aeiy & T uw s @ el ey 81

e wideT U Bt
Options:

1. ¢ FeemiaE

2 % TR

3 % TRy

4. % wefamT

Question Number : 171 Question Id : 99836718072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng §, o THeent § 8, 39 Seen @7 =90 o S Sy 70 a1y & 90 UF geg F ant A 8

EER TRl
Options:

1. ¥ FemidE
2 % TG

3 % TRy
4. ® FdaEAT

Question Number : 172 Question Id : 99836718073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T ng |, oW Awed! § 9, 39 Aa1 [dwed @7 o0 B¢ A1 106 w0 & o] IR weT g

Options:

1. % gadr
2. % gl
3. % gar



4 gar

Question Number : 172 Question Id : 99836718073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR g # or et # 4 39 987 B @1 a0 ¢ 1 e wre & o s e gn

Options:

1. % gaar
2. % g
3% Far
4. wer

Question Number : 173 Question 1d : 99836718074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt ng & aw Heedt § 9 39 Reed @1 =09 ¢ 91 120 M7 s & aArndt g=g o Heed T8l A

AT
Options:

1. % ey
2 % Ty
3. v AT

4. ® TR

Question Number : 173 Question Id : 99836718074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TeteET ng § o Beedt § 9, 39 Swen @1 =799 & At =By 7 e & aamedt geg @1 Bwew a5t 2

P
Options:

1. % erewdsr
2. % T
3. ¥ AT
4. % IR

Question Number : 174 Question Id : 99836718075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeRaT na 8, oW el § 9, 39 Fa1 fowed F1 90 B¢ AT i £ & 0] I0H e, %1 T51 [o@ed ol

Options:
1. %39
2. ¥ 3q
3% TR
4 ® 7



Question Number : 174 Question Id : 99836718075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateaT v , IR Ewed! 8 9, 39 951 [Dwed &7 I B A1 T w0 F 00 SUg® Jeg T 951 [y Bl

Options:
1. %39
> ¥ 3q

3 ® gz
4 ® g

Question Number : 175 Question Id : 99836718076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot v #, ox Swedt § 9, 39 fowey #7099 & 7 g Jeg #7951 Hhed o)

Options:

1. % spgreardt
o % aEnETEr
3. % awane
4. & arETeATEt

Question Number : 175 Question Id : 99836718076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeRaT ne 8, o el # 9, 39 ooy 7 9o & 57 §g o8 ®1 d51 [d@ed a1

Options:

1. % swEqreamt
2. % T
3. % aerean
4, o amETeTt

Question Number : 176 Question Id : 99836718077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafeiaT na #, o el & 8, 39 wew @ oo o it |7 giee T gJeg 21
Options:

1. % gfear

2 % FEE

3 ¥ Wed

4 ® T

Question Number : 176 Question Id : 99836718077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT W #, IR et # 4, 39 fowey @ e & S T Jies T 9T o o)

Options:
1 @ﬁ—{ﬂ'
R FrIETg?



3. ¥ e
4 ® FHT

Question Number : 177 Question Id : 99836718078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaeET ng ¥, O Seent § §, 39 Soe @7 =49 o A1 50 M7 sfeg, &7 ST Jea aTaT Hee 2

e

Options:

1. % gafdt
2 % gdf
3. % gREdt
4  gaf

Question Number : 177 Question Id ;: 99836718078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng ®, oW Awedt § 9, 39 THwed @ o0 & 91 130 T Seg 37 Sia feg 91T oo 8l

il
Options:

1. % g
2 % gdf
3. % giEat
4 gaf

Question Number : 178 Question Id : 99836718079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateTE wer #, = et # 9, 39 Tewey BT =9 & ST Hay dgoe Jeg 1 Gy S [Hme 5

Options:

1. % g7

2. ¥ AR
3. % Fiar
4. ® T

Question Number : 178 Question 1d : 99836718079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T W #, = et # 9, 39 fEwen @7 e o ST dpae deg #1 G6d 3ReT fHwe 5l

Options:

1. % ga

= ¥ AR
3. ® gigr
4. % T

Question Number : 179 Question Id : 99836718080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tl nd o, o deedt § &, 39 fSwer @7 a9 w9 18 17 6T & agaa qeg F He seuT ey gl

ATAT
Options:

1. % grierat
2. % ot
=, o arfert
4. % oot

Question Number : 179 Question Id : 99836718080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateTET wer #, I et # 8, 39 Towey &7 20 % S I8 70 958 & aga deg B d6d sk fHwe 3]

ATAT
Options:

1. % grferat
2 % gt
3. ¥ arierl
4 % et

Question Number : 180 Question Id : 99836718081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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general Hindiz

Section Id : 998367760

Section Number : 1

Section type: Online
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Number of Questions: 16
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Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 998367969
Question Shuffling Allowed : Yes
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Sub-Section Number: 2
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